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Give answer (1) if only argument 1

g, 18 Bliuat,.
111’“’"1 i rtant questions, it is Statement :
o ’boz: bezgle to distinguish be- wry msfﬂ?‘“dm“‘m“‘" bel oom | 1 w?.mmg (3) f only argument
o) %W’Baﬂdm‘m- the man and th of Give
W fore th e woman be- answer {3) lfcltherlorﬂl.s
hu’ ﬁ"‘" th gmportant at::m d]mctml], Armey m“"yt each other ? strong.
by | wﬂlcna::bﬂc:e question. argu- mw“‘epm;l{ﬂs isanintru- | 4 sgl:e (4 of netther f nor 1
ggm i rrJ"‘dm those which are of minor and hence cannot beantdmmmt ”) mvnf answer
. ! "‘ﬂ%e "he question or may be re- duce the risk b A 6. Statemes
% f ;cl’t A aspect of the ques- i with of giving birth to t: Should the admis-
. i pied to grivial A t Sal::ioua aflments. ?;Til;at‘gcprofess‘l‘%nal courses in
oy 1 ot Statement : Should all th giveno on merit with-
hy | unnrs B2 Exam. 09.02.2003) patented and mufact:;rduga out any concession to any par*
. fgach question below 1s followed by western countries be in ticular group of students ?
bered out first tried
6. antsnum [andIL You 1 on sample basis before giving ents : 1, Yes, this will im-
. paeto decide which of the argument cence for sale to general publi prove the quality of the profes-
g g'sl10 ent and which isa inIndla? pubte sionals as they will be able to con
- ek a:gumeﬂt Arguments : 1. Yes, many such plete the courses su .
n emmﬁ'“(ll if only argament I grugarcqm different doses and II. No, this will keep large number
jg stronge uration for Indian population and of soctally and back-
Give answer [2] if only argument hence it is necessary. wfatrhd students out of the reach
 pisstron g« No, this isjust not feasibleand | 7 of the professional courses.  © %
Give ANSWET (8) If elther 1 or I is ence cannot be implmented. 7. s:::m:mn ement : Should the state -
g if B aeaucy be asked major e eteat s
answer (4
. sg;; | (4) if neither I nor II :o * lose down thelr opm:::i gz:::;;ed in the respective
Give answer (8) if both L and I1 are ndia ? ents : 1..No, the central
o0 Arguments : L No, this will have government .sﬁéul& reecc' oenwe th
L . Should there be capt an adverse impact on Indian major share as >
pk economy. most of the de-
tal punishment for those who are I Ye velopmental programmes are
found guilty of rape charges 2 ¢ es, thisis the only way to make funded by the central govern-
¢s : L Yes, this is the pei survive and pros- ment. | '
only way to eliminate such atroci- nn-ectlom IL. Yes, most of the state govern-
ties on women. sions abo {6-10) : In making decl- ments are short of funds and they
1. No, this will lead to more vi d ut fmportant quESEAIS, itis badly need move funds.
e culorts o- | desirable to be able to distinguish be- 8. Statement : Should all
prits may even kill the | tween ‘strong : 9o the pril-
rape victims. ; . iy arguments and ‘weak’ ar- vate sector banks be immediately
2 . . . ‘Strong arguments are those ~ merged with
:;tment  Should all the non- | Whichare both important and directly banl%s ? the public sector
i semctnmolg ggiployeesmthepub- related to the question. ‘Week' argu- ents : 1. No, the private
r be compulsorily re- ments are those which are e oroft maki
trenched of minor sector banks are profi
from service ? and also ' profit making
Argumen may not be directly entities and hence they should
anunjustt]:a; 1. No, this will give related to the question or may be re- not be merged.
ment and th dle to the manage- lated to a trivial aspect of the question. 1I. Yes, this will safeguard the hard
ey may use it indis- (8yndicate Baok PO Exam. 10. 10,2004) earned money of the customers
nu-mYesmelyms.Mn Each question below is followed by and their interests will be se-
MOi"eﬁic] help increase the. two arguments aumbered [ and II. You cured.
sations almt::ncy of these organi- have to decide which of the argument 9. Statement : Should the umha'rge
profitab these will become is a ‘strong argument and whichis a of all the police stations in the
e establishments. ‘weak' argument. country be transferred every two
~— years ?
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Arguments : I. No, this will cre-
ate lot of administrative hassles
and also will create lot of incon-
venience to the police officers.

IL. Yes, this s the only way to eradi-
Cate the nexus between police of -
flcers and anti social elements.

10. Btatement : Should the of! com-
panics be allowed to fix the price
of petroleum products depend-
Ing on market conditions ?
Argaments : I. Yes, this is the
only way to make the oll compa-
nies commercially viable,

IL. No. this will put additional bur-
den on the retat] prices of casen-
tial commodities and wil) cause

Jot of hardships to the masses.
Directions (1 1-18):In making
decistons about important queations,
8t i desirable to be able to distinguiah
between ‘strong’ argumentas and ‘weak’
arguments, ‘Strong’ arguments are
those which arc both important and
directly related (o the question. ‘Weak'
Arguments are those which are of mi-
nos importance and also may not be
directly related to the Question or may
be related to n trivial aspect of the ques-
tion.

(UCO Bank PO Exam, 22.03.2009)

11. Statement : Should the govern-
ment deregulate the retail prices
of petrol, diesel and cociing gas
and alflow the prices to be driven
by market conditions?

Arguments ;

1. Yes, this wijl langely help the
ofl companies to sell thelr
products at competitive price.

Il. No, the general public cannot
afford market drtven prices of

these products,

. Yes, government needs to
8lop subsldizing these prod-
ucts and channelise the mon-
¢y for developmental projects,

{1) Only I and if are strong
2) Only 1 and i1 are strong
{3) Only {1 and 11} are strong
@) At 1, 11 and 111 are strong
(5) None of these

12. Seatement : Should the govern-
ment take over all the private’
passenger trinsport companies
across the country,

Argaments ;
I. Yes, this should be done as
the government runsg the rali-

L

H. No. govemimnent does not have
expertise to handle such op-
erations.

lIl. Yes, this way general public
can be laken out of the clutch-
es of the private transport
companies.

(1) Only I Is strong

(2) Only I and II are strong

(3) Only It and 111 are strong

(4) AlL 1, 11 and HI are strong

(5) None of these

13, Statement : Should the institutes
of higher leamings In India like

IITs and [IMs be made totally free

from government control ?

Aruments ;

L. Yes, such institutes in the de-
veloped countries are run by
non-government agencies.

L. No, government needs to reg-
ulate functions of these inst-

tutes for national interest,

I11. No, these institutes are not ca-
pable to take policy decisions
for smooth functioning.

(1) Only 1 is strong

{2} Only Il 1s strong

(3} Only lif is strong

{4) Only l and Il are strong

(5} None of these

14. Statement : Should the parlia-
ment clections in India be held

on a single day throughout the

country ?

Arguments :

L. Yes, this Is the only way to
handle such elections.

l1. Yes, this will help the com-
misslon to concentrate on a
single day for election related
issues.

HI. No, some other countries hold
such elections spread over
several days,

(1} Noneis strong

(2) Only I 1s strong

(3) Onlyli (s strong

(4} Only 11 1s strong

{5) Only I and 11 are strong

18. Statemeant : Should there be a

common pay structure of the cen-

tral government and al} state gov-
¢mment employees in the coun-
try ?

Arguments ;

I. No, each state government

decide the pay strucy, -~
employees, oy, 1
Ii. No, the

sibilities of cenryy P
ment and state EOVe%
employees diffor andnuhl
there should be me&:l%g
structure, Py

I Yes, all are Bovernmen, .

ployees and henge th
should be treateq equaly, ty
respective of they, wo k.
with central guvem"mrs‘ﬁ
any state governmen, - "
(1) Only 1 s strong
{2} Only ] and 111 are Strong
{3) Only Il 13 strong
(4} Only It and 1l are strong
(5) None of these
Directions (18-20) : |, mak'n;
decisions about important ques
it {s desirable to be able tg dhﬂnxuu
between ‘strong’ arguments ang
arguments, ‘Strong’ argumenty ane
those which are both important gpy
directly related to the question,
arguments are those which are of mi.
nor importance and also Ay not be
directly related to the question or may
bcrclatecltoat.mdalaspectonhgquu.
ton,
{PNB Specialist Officer,
Exam, 16.08.2009
Each question below 15 followeq
by two arguments numbered I and,
You have to decide which of the argu-
ment Is a ‘strong’ argument and which
Is a ‘weak’ argument,
Give answer (1) if only argument
I s strong,

Give answer (2) if only argwment
11 13 strong.

Give answer (3) 1If elther
argument I or argument I1 is strong.

Give answer (4) if nefther

argument I nor argument il is strong.
Glve answer (8) if both
arguments [ and I] are strong.

16. Should the Government stop
providing subsidy on kerosene
with immediate effect ?
Arguments :

1. Yes, this will help Govern-
ment reduce its huge fiscal
deflcit. :

ll. No, the poor people will not
be able to buy kerosene at
market price for their dally
needs,

ways,

should have the freedom to

~{ .BPBE-660 )} =



lqu%w ’ the Government
ng, 4, ghowld oo the water
n 1 v 'ublm fi for the flelds
‘e&%e.h : l.ﬂ‘to::‘,:’uppned with water for
':d - MI ﬂsgﬂﬂn?
Pqﬁﬁﬁ ™ are cven oth-
! % No, the tomeet
th ; L ﬂ-szehal‘d t-
e By thelr for cultival
tb their lands.

‘-'auy 4 ing make
Vor, &\ yes, the rich farmers
'le,,':"lq I puge profits, as the water tax
Ty formgaﬂonlsooﬂﬂldcmbhf
g ’ aﬁthosewhoareanwlng

16- 2 other countries and are

rf;y from communicable
LI ;maaes be sent back to the
%a countries they came from?
Arguments :
oy [ Yes, this is the only way to
Uy, " -eurb the apread of commu-
w mcable dm‘- R
» 1. No, thisisjust not advisable.
- 19. Should all those secondary
% from which less than fifty
Et percent studenta pass the SSC
y examination be closed down ?
ta:

*

I No, instead these schools
should be advised to take
corrective measures to im-

| prove the pass percentage.

1. Yes, this will deliver a strong

message to all the secondary

schools. '

20, Should there be a total ban on

giving new leenses to open liquor

shop throughout the country ?
Arguments

1. Yes, this will help decrease

in consumption of alcohol in

future,

Ii. No, the Government will earn
additional taxes by way of giv-
ing new lcenses as this will
increase the sale of lquor.

Directions (21-24) : Read the fol-
lowtng statements carefully and an-

1) Very few people ventured into
o b&’m pp:e::;rﬂe' this year
owing to exorbitant prices set

by the buildere.

(2) With the ever increasing cost
of basic materials such as ce-
ment and steel, the profit of
the builders has gone down

by 48 per cent this year.

(3) The buiflders have earned
huge profit in a governmental
scheme for building low cost
housing societies.

{(4) In a report published by a
national daily, the margin of
proflt eamed by a bullder per
square foot 18 as much as
eighty percent of its cost
pﬂmi

(5) The bullders have to neces-
sarily abide by the decree of
the government which con-
trols the prices of the real
estate.

23. The ministry of sports has been
advised by a committee to take
the highest award in the fleld of
sports back from two players who
were allegedly-involved in match
fixing

Which of the following statements

would weaken the argument put

forward by the committee to the
sports ministry ?

(1) A good conduct in the past
and a lack of evidence against
the players make the case
against them very weak.

(2) The ministry of sports has
never declined the recommen-
dations made by the commit-
tee earlier.

(3) Taking the award back from
the players would set a good
example to other players for
avoiding such actions in the

future.

{4) There have been past cases

swer the quests ,
ﬂndlag Bi:::w] hich fz;k:: 2012 where the award had to be
' (ll; d.ttln 0 taken back from the players
2L Realestate builders have refused owing to some misconduct lat-
(bring down the property pric- eron.
¢ as proposed by the govern- {5) The committee Is constituted
Ment this year. of some of the most respect-
Which of the following arguments ed and esteemed members
¥ould strengthen the stance tak- from the fields of sports and
én by the butiders ? politics.
S ——— ‘

23. M organizations have been
m:?'tms to recruitment based
upon performance at graduste/
post-graduate level exams rath-
er than conducting exams for the
sRme purpose.

Which of the following statements

would strengthen the argument

given in the above statement ?

(1) A recent study shows no link
of past performance with the
performance In recruitment
exams,

The uate/post-graduate
@ m:éraagre eorgdered to be
severely deficient in training
{n job related environment.
Organlsations which had un-
dertaken recruitment on the
basis of graduate/post grad-
uate exams report a signifi-
cant drop in the quality of the
recruited employees.

ch policies would add to un-
e t among students

em
having below average perfor-
mance in graduation or post-
graduation.

(5) Such policies could save time,
money and resources of the
organisation which are wast-
ed in the conduct of recruit-
ment examinations.

According to a recent government

directive, all bank branches in

rural areas should be computer-
ized.

Which of the following statements

would weaken the government's

argument ?

{1) Computerisation of bank
branches in urban areas has
helped in making their per-
formance more efficlent and
fast.

(2) Lack of skilled and qualified
manpower has been suitably
substituted by computers in
banks.

(3) Non-computerised bank
branches in the rural areas
have been proved to be as
efficient as their computerized
counterparts.

{4) The government has intro-
duced a special test for com-
puter knowledge in all recruit-

ment exams for banks.

(5) Unemployment in the rural
areas could be controlled by
training more and more pro-
fesstonals in computers.

{3}

BPRE-661 |
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29. Read the following Information
carefit, and answer the ques-
tion which 10llows.
‘Parents should make strong ef-
forts to cartal the extreme fad
for fanhion from their chitdren's
minds " A research report. Which
of the following would weaken
the argument presented In the
report most appropriately ?
(1) Exceashve craze of fashion I»
deirimental lo development of
ayoungster's personality,

{2} Following fashion is pot harm-
ful but only til it Is done to
certain reasonable limits,

(3) Maore fashionable the person,
greater are his/her chances

to suceeed n Jife,

{4] Fashion takes away the time
spent in constructive activi-
lies by the youngsters.

{5 Many achools and colleges
have unifonns for their stu-
dents ao as (o discourage the
craze of fashion amongst
them.
(tndian Overseas Bank PO

Exam. 22.08.2011)

26. A very large number of techni-
cally qualiied young Indlans are
coming oul of colleges every year
though there are not enough op-
portunitics for them (o get gain-
ful eenployment.
Which of the following contra-
dicts the views expressed in the
above statement?

{1} Technically qualified persons
are far superior to those with
standard degrees ke BA/
B.5¢/ B.Com. etc.

(2) The Government has not done
ellective perspective planning
for engaging technicatly qual-
tied personnel while autho-
rising the sctting up of tech-
nical colleges.

{3) A huge gap exists between the
level of competence of tech-
nically qualified graduates
and requirement of the indus-
uy.

(4) Majority of the technically
qualified persons ase migrat.
Ing from India (o developed
countries for better opportu-
Nitles,

(5) None of these
(UBPS Baak PO/MT CWR

s ement ! It has been report-
7 :;. llt'l a recent study that intuke
of moderate quantity of milk
chocolate reduces the risk of
suffering from central nervous
sysiem related llinesses.
Which of the following would
weaken the indings of the study

(1) People generally prefer tocat
cheocolate when they are

young,

{2) Majority of those not dlag-
nosed with diseases related
to central nervous system

have stayed away from eat-
ing chocolates In their lives.

(3} Chocolates contain certain

elements which strengthen
the functions of the central
nervous system

(4) Majority of those sullering
from central nervous system
related diseases are middle

aged.

(5) Many of those who sufler
froam diabetes also suffer from
other major ajlments.

(IBPS Bpeciallst Officer CWE
Exam. 11.03.2012)
Directions (28-30) : Read the fol-
lowing statements carefully and an-
swer the questions which follow. a
(TBPS Specialist Officer CWE
Exam.17.03.2013)
38, The ministry of sports has been
advised by a committec to take
the highest award in the field of -
sports back from two players who
were allegedly-involved in match
fixing.

would weaken the argument put

forward by the committee to the

sports ministry ?

{1} A good conduct in the past
and a lack of evidence agalnst
the players make the case
against them very weak,

(2} The ministry of sports has
never declined the recommen-
dations made by the commit-
tee earlier,

(3) Taking the award back from
the players would set a good
example to other players for
avolding such actions in the
future.

(4) There have been past cases

Exm. 18.09.2011)

where the award had to be

__1[. RDVDM Asanhesnaes A

reported in the above statement? | 29, Many Organtzatign, haye

taken baey g, P
10 80me pr | N8
eron, N“YE
(5} The commyy,

of some of the 1a M

cotnd e ne

from the fields of memb"\

politics, Spony

upon performance :?ent b:::
post-graduate leye) y
er than condy Samy N

same purpose., %f*“‘:

Which of the l'o]]ow-,g

would strengthen th:mu“%

given In the above g, o By

(1) A recent study ah::k""
of past performanc, “mﬁ“i
performance n reqm{h""
exams. ey

(2) 'The graduate .
exams are CO”llpat;’Gt Emdual,
severely deficlent in 0t
in job related cnv:mnl;,ﬂmm”*

(3) Organisations which '
dertaken recrultment on thy
basls ol'graduatc/pw ol
uate exams report a signig.
cant drop In thequamy ofthe
recrulted employees,

{4} Such policles would a4 f
unemployment among sty.
dclr_ufta having below a
periormance In grady
post-graduatlorfrad e

{5} Such policies could save e
money and resources of the
organisation which are way-
ed in the conduct of recrut.
ment examinations.

Which of the following statements | 30. According to a recent governmet

directive, all bank branchest
rural areas should be computer-
ized.

Which of the following statemer

would weaken the governmentt

argument ?
(1) Computerisation of bant
branches In urban areashst
helped in making their perkr
mance more efficient and [ad-
{2) Lack of skilled and qualited
manpower has been Sumbg
substituted by computer
banks. i
(3) Non-computerised ':;
branches In the be ¥
have been proved ¢ ot
efficient as their comp!

counterparts.

u __/

3}



(8IDBI Officer Exam. 03.09.2014)
%2, Statements : The Government

/ ' “T"ARGUMENTATION |—=
emment has intro- ®) The New

b,
W ) The pecial test for com- Company Act h
uql:? E ¢ d"‘oed];;ﬂedgcmallremm- drawbacks and f: m
P"m'c,wns for banks. may escape from this responsi-
g"“m ' e oyment in the rural bility easly. o
Doy g) V€ ould be controlled by (SIDDI Officer Exam. 03.00.2
N ! a8 as. 014)
. be,.‘ more and more pro- Statement : Company G termi-
Wy, f sesionals in computers. nates contract with company S.
ts : Teachers teach re- Company G starts buying raw
b%' g ing terrorist attacks from material from Com L.
' ard pany
Ry in the colleges. Parents . Which of the following may be
e, ob""fect“ this because at this ten- the most plausible reason foithe
Ay, age if students study about of the contract ?
: der 22 (¢ will have negative im- n
the ylolencet d (1) Company S was not provid-
ot on the stu ents. Teachers ing the 5P
My that movies, television, so- raw material of good
ey fa’;modla etc. expaose toviolence @ quality.
» ore than the lessons taught in ) Company G is offered raw
o Ee Jasses. material at better discount
Rek :‘ which of the following statements from Company L.
wl would weaken the parents’ argu- (3) Company L even being a
| ment? new entrant used an exten-
! } Ithas been proved that electron- sive marketing sirategy to
s ) nediadomuch harm than the sell its goods to Company G.
'ge : nenefits associated with themn (4) Company G wanted to shiift
@) Teachers teach something in to new variant of finished
proad perspective and alsowarn products which can be pro-
b students regarding the harmful vided by only Company L.
" as ? g z?z ;‘l’:;e‘; ate mat (5) Company S was not looking
Studen ure after the b -
& enough to distinguish between pany G. problems of Com
and bad thmgsh . (IBPS Bank PO/MT
4} There are many other factors CWE-IV, 18.10.2014)
;;xc:;:hslmpe theattitudeofastu- | 34, Statements : The outbreak of
5 1t s our duty to acq ¢ stu- the food-borne illness is caus-
dents about everything whether Ing problemn day-to-day
s or bad lifestyle. Many doctors advise
good ‘ people to reduce the consump-

tion of fast food. It will lower
down the health problem to a

35. Statement : Doctors found t.'na;
Company M is selling drugt

without testing the
aspects of the drugs. such praf{';
tice tends the doctor to nega’

the use of drug.

Which of the following argu-
ments would strengthen the
stance of the Company

its repeated trial and verifi-
cation of result.

(2) Some other companies are
alsa selling the drugs which
are sold by the Company M-
Some people do not agree

@ with th?: vigw put forward by
the doctors.

{4) Any drug is put on test by
the pharmacist. Dactors are
not competent to approve or
disapprove any drug.

(5) Doctors promote those drugs
which are very costly as they
have some share in the prof-

it.
(IBPS Bank PO/MT
CWE-IV, 18.10.2014)

86. Study the following information
and answer the given question.
Despite strong oppésite from the

social activists of village X, Pollution
Control Board renewed the license of
a coal depot to operate coal handing
barely one kilometre away from the
village.

Which of the following statements
supports the decision of Pollution Con-
trol Board to some extent?

(1) Several crops were destroyed
due to disposal of waste from
the coal depot in the previ-
ous year.

(2} Maintenance cost of roads in
village X has increased due
to transportation of coal.

{3) The depot provides employ-
ment for nearly 70% of peo-
ple in the neighbouring area.

(4} Several complaints have been
filed against the depot in the
past for violating safety stan-
dards.

(5) Nine out of ten residents of
village X sufler from respira-

tory problems.

(IBPS RRBs Officer Scale-1 & II
CWE 12.09.2015)

- R i

has enacted new Company Act tain extent
which envis that companies. ’
should spe;ge;t least t“;’:lil)ei' (A) According to a survey about the
cent of their profit on the activi- health issues, people should
ties related to Corporate Social improve the quality of food. Busy
Responsibility. : lifestyle and increase in the con-
Which of the following statements sumption of fast food is causing
would strengthen the argument mouthful of diseases.
given In the above statement ? (B) Synthetic fertilizers and pesti-
(1) tis the duty of entrepreneurs to cides used in vegetables and
shoulder the social responsibli- fruits are equally harmful for
ty and they should spend some consumption.
money for the deprived classes. Which of the two statements
@ gme?t should take f-h'; mentioned above would weaken
or the welfare 0 n th -
deprived ¢ ty ‘ ;: ;;;g;.lment given in the para
Plementing various programmes
1o help the needy people. (2) Only (B)
4 The Government should increase | (3) Either (A or (B
the rate of tax on the bigger com- (4) Neither (&) nor (B)
;;”1'1“93 and the extra revenue (5) Both (A) and (B)
q ected should be spent on the (IBPS Bank PO/MT
Prived classes | CWE-IV, 18.10.2014)
S ——
————{ BPRE-663




—| ARGUMENTATION |

87. Study the following information

carefully and answer the ques-

tion which follows:
Number of deaths due to :_QBN
isoning has risen in village A from
lz}sotwoyeamago, to 67 this year. Since
the number of patients Is the same, it
can be concluded that the new medi-
cation is the responsible factor for the
deaths.
Which of the following statements
weakens the given statements

that the new medication Is re-
sponsible for increased number

hydro-
(1) Initial set up cost for
ponics 1s very high as the

necessary equipment and in-
puts are three times more

expensive than that used in
traditional methods. oan
Disease causing micro-o -

@ isms that are water-based can
enter and subsist much more
easily in hydroponics based
environment as compared to
traditional farming.

(3) Ratherthan using only hydro-
ponics or only traditional
farming, most of the farmers

of fatalities? .-, useboth simultaneously.

(1} While azethorin-1 was being - (1) Without soil to serve as a
used to treat ABN poisoning buffer, if the hydroponics sys-
since 5 years, azethorin-6 tem fails, plant death occurs
was Introduced last year af- very rapidly leading to loss of
ter it obtained necessary clin- 70-85% crop.
fcal approvals. {5) The pmductiorlllg;itng hyc‘i:lr?;

_ ponics is very ed an
@ tl:]?z:rd W&mﬁﬂgﬁ_ more efficient for house gar-
ers of the village this years, dens rather than large scale

when combined with ABN
renders ail types of medi-
cines ineffective to treat the
disease.

(3 Duetolow awareness regard-
ing the disease, very low pa-
tients have been reporting
this disease for many years
which proves that the actual
numbers could be much

farming.
{(IBPS RREBs Officer Scale-] & 11
CWE 13.09.2015)
39. Study the following information
and answer the question.
In a recent performance appraisal
done by Company X, more than 70%
of the employees were found to be
under performing,
“I think that the restructuring done

we iling and de-weeding o their fields.

Which of the following sta;
tements does
not weaken the given statement ?

higher.

{4) The new medicines intro-

duced in village A for TQW

and RST poisoning has been

successful in significantly

bringing down the fatality

rate.

(5} A cement factory set up 5

years ago in the village was

responsible for leaching ABN

in the soil as well as drink-

ing water way above the dan-

ger limit.

(IBPS RRBs Officer Scale-I & I

CWE 12.09.20185)

38. Study the following information

carefully and answer the ques-
tion which follows :

Farmers should use hydro
for farming. Hydroponics ji’s i
Plants in liquid nutrient solution, Since
it does not require soll, farmers can
Save a large amount of time by avoid-

by the company in the previous year

is responsible for the under-perfor-

mance of the employees™ HR Manag-

er of Company X,

Which of the following statements

weakens the statement of HR

manager of Company X?

{1) The incentives linked to per-
formance were abolished upon
restructuring creating dissat-
isfaction among employees.

(2) After restructring the decision
making power was takjen
away from employees thus
delaying the work by long
hours,

{3) The number of projects in
Company X increased by
60%tlﬂsyeartherebyincrms-
Ing the burden on the exist-
Ing employees thig year,

(4) After restructuring the em-
Ployees were required to re-
port to multiple bosses lead-
Ing to ambiguity at the work

place,

©) Adequm

Nl
provided tg g, & way
transferred g di;rmmo"::
partments ang Crnm P
reat.mctumlg aﬂq

{Brs ap.qm
(Marketing) cyp Ol.o:m\
40. This question congyy, - 201
mation and two sate, - O ify,
beredl and1r

have to decide which, il"'&u

en statements Weakey O

strengthens the inform, Ny o,

decide the appropriate atb“n ay

Information ; Dye 10 Inere..

cases of kldnappmg In u:reas“

ty, school M has Made l:'d“‘“

pulsory for Parents ¢, fom.

guardians of the studeny, megal

a duly signed authg o
the person pickin,
dents from SChOOl.g P the

I. Most working pareng

their domestic help, for rmc M

up their children frop, King

who can easily coerceq into forg
ing or misusing the authority Joy
ter for monetary plans,

II, There ig no photograph
authority letter maklngp itm
to identify the person why COmes
to pick up the child.

(1) Both statement I ang state.
ment Il strengthen the infor.
mation.

(2) Statement I strengthens thy
information while staternent [
weakens the information

(3) Both statements I and Ul
weaken the information,

{4) Both statements I and I are
necutral statements, .

(5) Statement I weakens the in-
formation while statementl
strengthens the information.

(IBPS Specialist Officer
(Marketing) CWE 01.02.201¢)
41. This question consists of an in-
‘formation and two statements
numbered I and 11 given below
it. You have to decide which of
the given statements weaken/s
or strengthen/s the given inir
mation and decide the appropri

ate answer.

Information : Examination cof

mittee of College X has reco?

mended that the negative mark

Ing in the exam should be ™

moved.

{
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W

em, %, students tend to give an.
[ me S ply

0 I mply by guessing when
a|‘~10an ::! :;;eﬁ 1: no negative marking in

LN .
:‘-: %\ U iing the best candidates
.0240 1L sel the pop._uatjon becomes dif-
3 front
"‘nur 'nrl" o the absence of negative
“Thtgy . Or, ridng:
‘3""1{' ghl goth Statement I and State-
;:the g,:" ) ment II weaken the Informa.
eflg - on-
;t;c;n Oy P smtcm;ﬂt I Btrels‘l%tahens the
ymation while statement I1
! Ve s the information,

tement [ weakens the in-
1t Sy, o fsoﬁ,auon while statement ]|

Co
r legt:l‘ i strengthens the information,
togs, |y Boih Statement ] and State-
f:terto ment Il are neutral state-

Sy, ments.

i e Both Statement [ and IJ

Cly on. ! strengthen the information.
'] - (BPS Specialist Officer (IT)
chogy ! CWE 14.02.2016)
forg.
Yo [ sBI PO EXAMS
! the pirections (1-5} : In making de-
oy 4gon about important questions, it is
Mes  gesirabletobe able to distinguish be-

mween ts and “Weak™
ate. arguments 80 far as they relate to the
for- M.'Shong" arguments are those
ghicht are both important and directly
related to the question. “Weak” argu-
e pents are those which are of minor

ts:

L
Yes, 1t will speed up judicial pro-
tCGSSO many people are likely
I Bet justice in reasonable time.
. :’:f;;s;wl}t1 is ; sign of British lega-
» Why should
G uld we carry it fur-

3. Statement : Should the practice
of transfers of clerical cadres
employees from one city to an-
other government offices be

stopped?
Arguments ;

1. No, transfer of em
4 ployees is a rou-
tine administrative matier and we

must continue it,

IL. Yes, it involves lot of governmen-
tal expenditure and inconve-
nience to many compared to the

benefits it ylelds.

4. Statement : Should higher qual-
ification be the only criteria for
intemal promotions in any organ-

isation?
Arguments ;

I. Yes, why not? In fact only higher
qualification is more important

importance and also may d
related to the questions or may be re

lated to a trivial aspect of the ques

tion.

strong.
is strong.

1.

{8B1 Banks FO Exam. 11.02.2001)

In each question below a state- .!
ment is followed by two arguments
numbered I and 1. You have to decide

which of the arguments is a ‘strong

Give answer (1) If only argument

1is strong.
Give answer (2) if only argument

11 is strong
Glve anawey (3) if citherIor 1118

not be directly

Give answer (4) if neither I nor Il

Give answer (5) if both1and Il

are strong.

6. Should the school teachers be
necessarily involved in the cen-
sus activities?

Arguments : _

I. No, this will adversely affect
the quality of teaching pro-
gramme,

1I. Yes, the teachers are the best
fit for this job.

7. Should India engage into a dia-
logue with neighbouring countries
to stop cross border tensjon?
Arguments : .

Yes, this is the only way to

reduce the cros: “orde- ter-

th
iportance and also may not be dgcécﬂy than other factors.
. r:tl:ldtttio t‘; the que:;ionst 0;' !.Thag u:::: 1I. No, quality of performance and rorism and stopl sol ino-
h tr pec 1 other factors are more important cent lives. '
toas. than high alifi pg in 1. No, neighbouring ntries
mere er qualification - No, cou
* (s8I Banks m. EE’:; ’ mo;o?l;.:-) case of internal promotion. cannot be relied upon in such
- lwisfollowed by two QU;StS num- 8. Statement : Should Indian sci- matiers, they may st engage
' 5 entists working abroad be called in subversive activiti .
I bered I and II. You have to decide
w back to India? 8. Should all the utility sen.cesbe
which of the arguments is a “Strong” i diat
agument and which 1s a “Weak” argu- Arguments : cdiately brought under es-
ment, I. Yes, they must serve the moth- seg{“g?il se“’i‘:-:s to avoglyfrt;quent
Give answer{1) if o argl‘ mment erland first and forget about dis- a on and st ES € em-
lis *strong”. (1) tfonly coveries, honours, facilities and ployees?
Give answer (2) if only argument all | Arguments ;
lis*strong”, }ifanly II. No, we have enough talent, let 1. No, otherwise how the wm-
Give answer (3) if either ] or Il is them stay where they want. ployees may voice their griev-
"Strong”, Directions (6-10) : In making ances and demands.
Give answer (4) if neither I nor1i | decisions about important questions, . Yes, the employees are be-
87 ,and (4) i neither it is desirable to be able to distinguish coming more and more greedy
Give between ‘strong’ arguments and ‘weak’ and they take the general
- m (8) if both I and I ents so far as they relate to the public for a ride by striking
L Statemeng tion. ‘Strong’ arguments are those work.
:S ques
¢stablisheg hl,’;h“;f %g:gf’;‘;;:{;‘ which are both Important and directly | 9. Should all the unauthorised
lutes of Technology (IIT's) be pri- related to the question. ‘Weak’ argu- structures in the city be immedi-
Valisegjp PP | nents are those which are of minor ately demolished?




L
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arguments are those ”

Arguments : 12. Should there be concentration of “’h‘d‘antu
1. No, wht:re will the people re- forelgn investment in only few relahnp tedm mmlmmcwmbe%
siding in such houses live? States ? to a trivial aspect oru::“nyheru%
I1. Yes, this will give a clear mes- Arguments (SBI Bank PO qu .
sage to general public and I. No. It is against the policy of Exam, 1._05.%
they will refrain from con- overall development of coun- Each question belgy, ¢ (o)
structing unauthorised build- try. by two arguments Numbereq ) :::’ﬂ
ings. II. Yes. Because a]al'ge number You have to ::leclde Whlch of l]I
10. Should the raflways in India be of States lack Infrastructure | argument is a strong’ N
privatised in a phased manner to attract foreign investment. | whichis a‘weak' argumen;. ¢ ¥y
like other public sector enterpris- 13. Should there be a complete ban Give answer (1) fonly a’!'-lng,“
es? on opening up of new [ lisstrong.
Arguments ; management educational instit- Give answer (2) if only
I. Yes, this is the only way to utions ? I 18 strong. Bllmey,
bring in competitiveness and Arguments Give answer (3) f ey, ;
l]:ll;g\;llge better service to the L Yes. There are more lg stitu- | is strong. T L oryy
. tions than required and there Give answer (4) if neyy,
IL. xlf:&otﬁ?i will pot;%?oﬁ':eat to is no need to open up new | 1 {s strong. * Ingy
securl oun- institutions. Give answer (8) if both |
g ﬁftgl tlgg?;t;mah will en II. No. We need more profe- | are strong. andy
Directions (11-15) : In making ssional managtgrsﬂlﬂm sce-g 16. Should all beggars on the Toad
decisions about important questions it days because the in the big cities 1n Ing;,
is desirable to be able to distinguish narlo will be very competittve. forcibly sent to villagegp
between ‘strong’ arguments and ‘weak’ | 14. Should private organisations be Arguments :
arguments so far as they relate to the allowed to carry on security I. No, thisis
question. ‘Strong’ arguments are those related research activitles 7 e @'1 ossly unfair oy
which are both tmportant and directly Arguments ﬁﬂ? people will die of hyp,
related to the question. 'Weak' argu- 1. No. Private organisations are gerif they are sent to
ments are those which are of minor easily vulnerable to our ene- 1. Yes, these people create abyg
importanice and also may not be directly mies and therefore, they impression of our country
]retlz‘tjetd to the q“es“"nf"t;;may bﬁ re- should not be permitted to the eyes of the foreigners wh,
a 0 trivial aspect of the question. carty on such researches. visit our country and hepg,
(SBI Associate Banks PO should be removed,
Exam. 21.07.2002) 1. Yes. The Government has not
by two arguments numbered I and If on such researchies and the for onmitting murder b
You have to decide which of the - private organisations would awarded capital punishment ?
arguments Is a ‘strong’ argument and manage necessary resources, Arguments ;
which 1s a ‘weak’ argument. 18. Should there be recruitment in L. Yes, this will be a significant
Give answer (1) if only argument banks on the basis of past step towards reducing cages
11s strong ?l:adenﬂ; perfc;’lrmances rather of murder in future,
. Give answer (2) if only argum, an through competitive I1. No, nobody
i1 is strong (2} ifonly ent examinations ? No h.astl'lerlghttntake
any person’s life irrespective
Give answer (3} if either [ or Il is Arguments of the acts of such individuals.
strong, L. Yes. It will be beneficial for 18. Should all the professional
Give answer (4) if neither I nor Ij those candidates who are colleges in |
is strong. unable to bear the &¢s in India be encouraged
3 of expenses to run their own courses without
J Give answer (8) if both I and I1 competitive examinations, affiliation to any university ?
are strong, . ll. No. The t
| 11. Should the tenure of the performance cannot be made L v )
] President be longer ? the basis of recruitment + Yes. this is only way to creale
Arguments becausetheneisnounlfomuw vore opportunities for those
L. No. The President of India is In the assessment by the who seek professional training,
non-executive head. There. universities, I1. No, this will dilute the quality
- fore, there is no need to ex. Directions (16-20) : In making of professional tralning asal
tend his tenure, decisions about important questions, it such colleges may not be
I Yes. It will provide ap | I8 desirable to be able to distinguish equipped to conduct such
opportunity to President to | PetWeen 'strong’ arguments and ‘weak’ Courses.
guide he Government to fiyl) | 2m8Wments. arethose | 19: Should there be a maximum
the long term objectives, which are both important ang directly celling imposed on the earnings
related to the question. ‘Weql of an inditvidual in an organtation”

f
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this will help equitable

! i‘ I ;;?t'rlbu“o“ of earnings to all
‘08, the emp]oyees.

S g, ;‘0% f No, the organization should
3 '%"'% 1. MO~ ree hand to decide the
h :‘{hj A packets of its employees,
ey, ¢ lh‘ uld there be a compulsory

| g0 ;l’ﬂ'j’ ary training for each coltege
By, | gudentininda?

ts ;

gu,%l . No, this goes against the ba-

" gi¢ democratic right of an in-

To dividual to choose his/her

1 tl own programs.

'l, | 1. Yes, this is the only way o

ey build a strong and powerful
g i pation.

i ! tions (21-25) : In making

about important questions,

b&% I M?ems;blc to be able to distinguish

by S n ‘strong’ arguments and ‘weak’
;rgume“ts‘ ‘Strong’ arguments are

hos¢ which are both important and
related to the question. ‘Weak’

ts are those which are of mi-

qor importance and also may not be
related to the question or may

pe related to @ trivial aspect of the

(SBI PO Exam. 08.01.2008)
Each question below is followed
by three arguments numbered], Il and
il. You have to decide which of the
ts is a ‘strong’ argument’ and
which of them is ‘weak argument’,
21, Should the income generated out
of agricultural activities be taxed?
Arguments : L. No, farmers are
otherwise suffering from natural
calamities and Iow yield coupled
with low procurement price and
their income should not be taxed.
I Yes, majority of the popula-
tion is dependent on agriculture
and hence their income should
be taxed to augment the Govern-

TEERE &S S

ment resources. - ’
. Yes, many big farmers earn
much more than majority of the
service earners and they should
be taxed to remove the dispar-
fiy.

{1) Al are strong

(2) Only I1 and 111 are strong

3} Only 1 is strong
4 Only 1 and 11 are strong.

S ——
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22. Should an the indirect taxes in
India be combined into a single
tax on al] commaoditles ?
Arguments: 1. Yes, this will con-
siderably simplify the tax collec-
tion mechanism and the cost of
collecting tax will also reduce,
IL Yes, the manufacturers and
traders will be benefited by this

which in turn will boost tax col-
on.

HIL No, no other country has
adopted such system.

(1) Nonte is strong

(2) Only I and I are strong

(3) Only 11 15 strong

(4) Only Il and 11! are strong

{5} None of these

23. Should all the students graduat-

Ing in any discipline desirous of
pursuing post graduation of the
subjects of their choice be al-
lowed to enroll in the post gradu-
ate courses ?

Arguments : I Yes, the students
are the best judge of their capa-
bilities and there should not be
restrictions for joining post
graduation courses,

IL. No, the students need to study
relevant subjects in graduate
courses to enroll in post gradu-
ate courses and the students

- must fulfill such conditions.

IIL. No, there are not enough in-
stitutes offering post graduate
courses which can accommodate
all the graduates desirous of
seeking post graduate education
of their ovwn cholice.

{1) None is strong
{2) Only I and H are strong
(3} All are strong _
(4) Only I and III are strong
(5) None of these

24. Should there be complete ban on

Indian professionals secking jobs
elsewhere after getting their edu-

cation in India ?
Arguments : I. Yes, this is the
only way to sustain present rate
of technological development In-
dia.
11. No, the Indians settled abroad
send huge amount of foreign ex-
change and this constitute a sig-
nificant part of foreign exchange

HI. No, the practical
gained by lnpdlans by working in
other countriea helj ‘
velop its economy. ;
{1} None is strong i
(2) Only I and Il are strong j
(3) Only 111 is strong
(4) Only 11 and 11l are strong
(5) All are strong
28. Should there be only few
in place of numerous 8

banks in India ?
ts : L Yes, this will help

secure the investor's money as
these big banks will be able to
withstand intermittent market

related shocks.
I No, large number of people will
lose thelr job as after the merger
many employees will be redun- .
dant. :
II1. Yes, this will help consolidate
the entire banking industry and
will lead to healthy competition.
- (1) None is strong argument
(2} Only I and [l are strong ar-
guments
{3) Only I1 and III are strong ar-
guments
(4) Only 1 and I are strong argu-
ments
(5) All are strong arguments.
Directions {26-30) : In making
decision about important questions, it
is desirable to be able to distinguish
between “Strong” arguments and
“Weak"” arguments so far as they re-
late to the question. “Strong” argu-
ments are those which are both im-
portant and directly related to the ques-
tion. “Weak"” arguments are those
which are of minor importance and also
may not be directly related to the ques-
tion or may be related to a trivial as-
pect of the question. o
' (SBI Associate Banks PO.
.Exam. 07.01.2007)
-Instructions : Each question be-
low is followed by a statement and two
arguments numbered [ and H1. You have
to decide which of the arguments is a
“Strong” argument and which is a
*Weak" argument.
Give answer (1) if only argument
I is strong.
Give answer (2) if only argument
I is strong.
Give answer (3} if either L or Il is
strong,

P R

banks
maller

reserve,

—( BPRE-667 )
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Give answer () if nefther I nor If
is strong.
Give answer (0) if both 1 and I
are strong.
26. Statement : Should the habit of
late coming in educational ineti-
tutions ba checked?
Arguments ;
I. No. Unttl it affects the work.
I, Yes. Diacipline must be main-
tained.

27. Statement : Should sentority be
the only criterion for the promo-

tion?
Arguments :
1. No. All the senior employees
are not interested in promo-
Hon.
H. Yes. Otherwise senior employ-
ees do feel humiliated,
28. Statement : Should children be
prevented completely from
television?

Arguments ;

L. No. We get vital information re-
garding education through
television,

IL Yes. It hampers the study of
children.

39, Statement : Should trade unions
be banned completely?
Arguments )

I. No. This is the only way

which employees can
put their demands before
management,

I, Yea, Employees get their ills-
g2l demands fulfilled through
these unions,

*0. Statement : Should women be
given equal opportunity tn mat-
ier of employment in every fleld?
Arguments ;

1. Yes. They are equally capable,
Il. No. They have to shoulder
thouseholr.l responsibiifties
°°o
y cmblm:btiox::gl-ﬂ) tIn
cClsions about important qu

it is destrable to be abje to d?s n
arguments. ‘Strong' argun?ﬁndts are
08¢ which are both Important and

Each question below is followed
by three nrgumenta numbet ed W. (2
and (C). You have to decide which f
the arguments s a ‘strong’ argumen
and which is a ‘weak’ argument.

81, Statement : Should there be a
cap on drawing groundwater for
irrigation purposes in India ?
Arguments ;

(A} No, irrigation is of prime im-
portance for food production
in Incia and 1t is heavily de-

ndent on groundwater in
many parts of the countsy.

(B) Yes, water tabies have gone

down to alarmingly low levels

in some parts of the country
where trrigation s primarlly

dependent on groundwater,
which may lead to serfous en-
vironmental consequences.

{C) Yes, India just cannot afford
to draw groundwater any fur-
ther as the international agen-
cies have cautioned India
againat it.

(1) Only (A} and (B) are strong

(2} Only (B) and (C) are strong

(3) Only (A) and (C) are strong

(4) All (A}, (B) and (C) are strong

(5} None of these

32, Statement : Should there be
complete ban on setting up of
thermal power plants in India ?

Arguments :

(A) Yes, this is the o, to
arrest further addﬁgmm
vironmental pollution,

- (B} No, there is a huge shortage
of electricity in most parts of
the country and hence gen-

. Cration of electricity needs to
be augmented, '

{©) No, many developed countries
continue to set up thermal
powa-plantsmttmmunmes.

(1) None ts strong

{2) Only (A) 1a strong
(3) Only (B) 15 strong
(4} Only (C) s strong
(5) Only either (A) or (g) 1g strong

A No, big cittes in India do not
toaceo, mod, i
twrzy::c;date the growing

34. Statement : Should

(B Yes, only the butlg,
developers beneqy &%E

construction of
by high

(1) Only (B) is
(2} Only (C) 1s strong
(3) Only (A) and (C) are Strong
{4) Only {A) 18 strong
{5) None of these
work in big cities be m
only late at night ? t
Arguments :
(A) No, this way the work wy)
never get completed,
(B} No, there will be ynn,
use of electricity,
(C) Yes, the commuters
lot of problems due t?n re:x
work during the day.
{1) None is strong
(2) Only (A) 1s strong
(3) Only (C) is strong
{4) Only (B) and (C) are strong
{5) Only (A) and (B) are strong

88, Statement Should a the
deemed universitieg be
andattachedtoany

‘of the central or state univers;.
ties in Indig ?

Arguments ;

(A) Yes, many of these 4

- universities do nctcorfm
the required standards of 2
full-fledged university ar-
hence the level of education
Is compromtsed.

(B} No, these deemed universities
have been able to introducs
innovative courses suitable to
the requirement of various
Industries as they are free
trfrzg strict Government con-

(C) Yes, many such universities
are basically money spinning
activities and education takes
a backseat in these institu-
" .

onas,
(1) Only (a) and (B) are strong
{2) Only (B) and (C) are strong
(3) Only (A) and (C) are strong
(4) All (A}, (B) and (C) are strong

" (8) None of these
(_BPRE-g68 _
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hionly | 7 jgpement : Many major auto | 38, Seatemen
"El; % ”, will increase the prices t; The renovned car
. i "":‘hﬁ vehicles by 7 per cent semw‘e'cd“'—he Country X has ob-
Nt of next month, mainly to off. 18 ve that tta new Zip Zap' car
:r:;:(ghef input and operational Ty much in demand among
P“'?nq;u"q ﬁs;:h of the following arguments
h‘gb ulg ald wealen the facts given in
l'!* m: mtcmcnt 7

0 The largest auto maker in the

country. Verontee had failed
to make any profit when
rees for its vehicles were
increased by almost 4 per
cent
ational and input costg
continue to be 85 per cent of
the total costs of the vehicleg

kyy | (@ Both tnput and operational
' costs were gradually in.

creased by the government to
avold sudden transit losses to

the companies

(4) At any given time, a price rise
of more than 5 per cent defi-
nitely leads to substantial de-
crease in sales of the vehicles

{5) Rather than Increasing profit,
7 per cent price rise would

; bring it at the same level
| which existed before the rise
he in Input/operational costs.

o (SBI Specialist Officer
ly {(Law Officer : MMGS Scale-1I)
l Online Exam, 19.04.2014)

37. Statement: South African turtles
known as Polka turtles, which
l have dots on their skin, are fac-
ing the threat of extinction as they
are used as pets by humans,
Which of the following steps
should be taken by the Govern-
ment to save these turtles?
(1} Poachers should be prevented
from poaching these turtles
by the forest guards.
(2) The term of imprisonment for
poaching of Polka turtles
. should be increased from four
years to 10 years.-
(3 The persons who make these
turtles as their pets should be
fined heavily.

(4 The Government should take
step to increase the breeding
of Polka turtles.

(5 None of these

(SBI Management Executive

Which of the followin.
Probable reason for thg l.:'lacrr::::
in the sel] of ZIp Zap cars?
(1) The customers are very much
aware about their safety
{2} Zip Zap cars have special fa-
cllities which are not available
In the other cars,
(3} Zip Zap car has in corporated
most sophisticate technology.
(9 Zip Zap car 1s fuel efficient
(5) None of these
(SBI Management Executive
Exzam, 19.09.2014)

38. This question consists of a state-

ment and two conclusions num-
bered I and I given below it. A
conclusion is something which
can be directly deduced from the
given information in light of the
glven facts. You have to decide
which of the given conclusions
logically follows from the given
statement and select the appro-
prate answer.
Statement : At present 32% of
our villages receive 24 hours elec-
tricity and in the next two years,
the state government would strive
to add 16% more villages to this
list.

I. At present 60% villages {n the
state have no access to electrici-
ty at all.

II. Even after a couple of years,
more than half of the villages lack
access to 24 hours electricity.
{1) Only Il can be concluded

from the given information.

(2) OnlyIcanbe concluded from
the given information.

(3) Neither I nor Il can be con-
cluded from the given infor-
mation.

(4) BothIand Il can be conclud-
ed from the given Informa-

tion .
{5) Either!orll can be conctud-

ed from the given informa-
tion, -

Exam. 20.11.2014)

Exam, 19.00.2014)
N ——

(SBI Associates PO Online |

Directions (40 — 41} : Each of the
foﬂow%%uésuons consists of a state-
ment fe by two statements purm-
bered 1 and 11 given below it. You have
to decide which of the statements
numbered I and II weam ar strength-
ens the statement and mark the ap-

ropriate answer,
prop (SBI Associates PO Online

Exam. 30.11.30148)

40. Statement : The world should
move towards using blo-fuels in
the future as these are more en-
vironment friendly as com;
to regular fossil- fuels.

1. While blo-fuels cleaner to
bumn, the process to uce
the fuel, including the nec-
essary machinery leads to
very high carbon emission

II. As bio-fuels are manufac-
tured from materials such as
crop waste, manure and oth-
er by products, these, uniike
fossil-fuels, are easily renew-
able.

(1) Statement I weakens the in-
formation while statements 1l
isa na_'.tural statement.

(2) Both statements I and 11

weaken the infornation.

(3} Statement] sirengthens the
information while statement
11 weakens the statement.

(4 StatementI weakens the In-
formation while statement 11
strengthens the statement,

(5) Both statements 1 and 11
strengthen the information.

41. Statement : Always remain in
an air conditioned environment

for better health and well-being.

I." Filtersin the air-conditioners
lower exposure to allergy cre-
ating pollen and other out-
door allergies.

11.. Spending two much time in
an alr-conditioned environ-
ment result in gradual intol-
erance of body towards nat-
ural temperatures.

(1) Statement ] weakens the in-
formation while statements Il

= s anatural statement.

(2) Both statemgnts Iand 11
weaken the information.

(3) Statement 1 strengthens the
. information while statement
Il weakens the statement.

(4) Statement | weakens the in-

, formation while statement 1
strengthens the statement.

(5) Both statements ] and Il
strengthen the information

—{ BPRE-369 }-
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RBI GRADE-B/NABARD
GRADE-A OFFICER EXAMS

Directions (1-53) : In making deci-
sions about important questions, it Is
desirable to be able to distinguish be-
tween ‘strong’ arguments and ‘weak’ ar-
guments, ‘Strong’ arguments are those
which are both important and directly
related to the question. ‘Weak' argu-

ments are those which are of minor
nnpmtaneemidalsomaynotbedlmctbr
related to the question or may be re-
lated toatrlvialaspectofmeques-
tion.,
(RBX Grade-D Officer Exam.17.11.2002)
Instructions : In each of the fol-
lowing a question is followed by two

* Give answer (1) if only argument |
isstrong,
- Give answer (2} if argument
M 13 atrong. * ony
Give answer (3) if edther argument
Por It is strong,
G!wmmlfnelthermgumt
I'nor 1l is strong.
Give answer (5} if both the argu-
~ments I and Il are strong. )
1. Statement : Should the existing
labour laws be changed in the

I No, we have been supporting
non-violence on every step of
our lives.

4. Statement : Should the prestigious
People be met with special treat-
rnent by law who have committed
crime unlmowingly?

Argurnents

L. Yes, because the prestigious
peopie do not commit crime in-
tentionally.

II. No, it is our policy that every-

body is equal before the law.,
8. Statement : Should mutual
funds be brought under stricter

Government control ?

Arguments :

1. Yes, that is one of the ways to
protect the interest of the in-
vestors, )

H. No. Stricter Government con-
trols are Mkey to be counter-

productive,

" Directions (6-10) : In making
decisions about important questions,
it is desirable to be able to distinguish
between ‘strong® arguments and
‘weak” arguments. “Strong" argu-
ments must be both important and

——

Arguments :
I1: Yes, graduates always Per.
form better than the noy

duates by virtue of th."
ﬁrlgher level of educatlo:“h

No, there are quite a fey

ple who cannot afford (g .

main un-employed tjl) the

completion of graduation anq .

are capable of 1:;:311‘«:1-1-;“1.,g ;

equally well as the gl'al:h_late f

candidates,

7. Should the examination bodieg -
for all university examination, |
permit the use of calculatorg »
Arguments :

I: No, it Is necessary for the
students to know the meth.
ods of manual calculation to
make their concepts clear,
Yes, manual calculations are
no more required with extey,.
sive use of computers ip all
flelds.

8. Should the knowledge of Hindi
language be made compulsory for
all the employees of public sec-

tor organizations ?
Argumeants ;

I: Yes, it i< necessary for degl-
ing with people from the ed-
ucationally backward straia
of the society.

No, it is not necessary for

1I:

II:

I:

favour of owners ?
Arg: : directly related to the question. “Weak" LVery clupioyce to have the
. Yes, because the extst ing arguments may not be directly relat- * knowledge of Hindji language,
labour laws give much mors | €4 t0 the question and may be of mi- 9. Shouldit be made compulsory for
protec'uon to employees than nor impoltance or may be related to all the pﬂvate sector Organiza-
required and thus production the trivial aspects of the questicon. ' tions to reserve quota for soctal-
is reduced, - o {RBI Grade-E Officer Exam, 2007) ly backward clagses?
1. No, because owners would Each question below is followed |- Arguments ;
exploit employees as before | by two arguments numbered I and [1.- I': No, the privat
when there were no labour | You have to decide which of the argu.- ' not be g%v;?nidselfmt?hGOMd
laws, | ments is a “strong” argument and ernment rules Y e s
2. Statement ; Should Indta ac- | whichis a “weak” argument. . :
quire/manufacture the Jagest Give answer (1) if I1: Yes, private sector organiza-
nuclearweapons? . I'1s stron H1fonly argument tlons should also contribute
g in upliftment of socially back-
Arguments Give 2) if d : pack
I Yes, the enemies of Indta are | 45 strong, | ) only argument Should e 5es:
Improving their weapons cop. & 10. Should the women be advised not
tinuously, , Give answer (3) if either argu. to travel alone at night in view of
I. No, ttwill be agatnst our mentIor Il is strong, the increasing incidences of rapes
of maintaining world peace, Give answer (4) if nejther argu- and sexual abuse ?
3 Bumﬂlt?ShOUIdanlma]be mentlnorlllsatrong. ) ts:
killed in the name of laboratory Give angwer (8) if both argu- I: No. instead the Government
t? ments I and II gre strong, should take measures to con-
:hmh 8. Should graduation be made min- trol such incidences.
. E,nﬂ]eyam aVaﬂablem abun- medu(aw quﬂl!ﬁcatlon for 1I: Yes. itis difﬁcult even for the
ce. entry level jobs in any pubiic sec. police department to control
: ‘ tor organization? such cases.

—| BPRE_a7n L.
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\ e (11-18) : In

f"’aya l’"":bom tmportant questions,
ulhe by, to be able to distinguish
® or W n,,d&""’.‘.;lfmng" arguments and
Qallghulel_ Dctwﬁ:';gmnmts. “Strong” arguments
ey, weik Jpoth important and directly
Orgy h‘& i gll)”t bfo the question. “Weak argu-
1 tlhfe ! ﬂ.,a:cd y not be directly related to
W ult‘ / mcﬂ"m;mandmaybeofmtar im-
T % f unﬁ“myberdatedtoﬂlcmvia]
, ’hun of the question.

'hadu%l [ aspect® (RBI Grade-B Officer

Exam, 11.10.200g)

uestion below 1s followed
NS Eachd ents numbered I, I] and
org o8 | yICRE o decide which of the
" . You 1(s) is/are “strong".,

D ; should the Government restrict
y by 11 use of electricity for each house.-
"'em , hold depending upon the require.-

i

ea'r. -

s mﬂlﬂ :

n this will help government
ey, 1. Yes,

tide over the problem of inad.

equate generation of electricity.

i, No, every citizen has right to con-

g sume electricity as per their re-

quirement as they pay for using

electricity.

jii. No. the Government does not

have the machinery to put such

) a restriction on use of electric-

ity.

2 (1} Only I is strong

(2} Only I! is strong
(3) Only I and i1 are strong
(4) Only Il and III are strong
(5 Al I, Il and III are strong
12. Should the Government order
closure of all educational institu-
tions for a month to avoid fast
spreading of the contaglous viral
infection ?
Arguments :

L. No, closure of educational insti-
tution alone is not the solution
for curbing spread of viral infec-
tion, gsp

Ty

r f&
e

el

1. No, students will visit crowded
Places like malls, markets, play-
grounds etc. in more numbers
and spread the disease, as they
:glhavelotofspareumeat thelr

M. Yes, young persons are.more
Prone to get affected by the viral
Infection and hence they should

indoors,
() None {3 strong
Q) Only 1 45 strong
% Only 111 is strong
) Only 1 and 17 are strong

']
1 ARGUMENTATION |—

™

In the the country ?
te:
I Yes there s no
' other way to pro-
vide f00d (o its eitizen dud i
year. during the

1. :o. the Government does not
Ave Its jurisdiction over private

I Xporters forba.nnlng exporters.
L ;’ﬁs;;vﬂm Government should not

the exporters to export f
Erains and procure all the ft;.gg
graing held by such exporters
and make j¢ available for home
consumption.

(1) Only 1 and 1t are strong
{2) Only 1l and 111 are strong
(3) Only I and NI are strong
(4} AlLL, 1l and I are strong
{5) None of these

14. Should there be a common sylla-
bus for all subjects in graduate
courses in all the universities
across the country ?

Arguments :

L. Yes, this{sthe only way to spring
In uniformity in the education
system in the country,

II. Yes, it will help standardise the
quality of graduation certificates
being given by different univer-
sities {n the country.,

III. No, each university should have
the autonomy to decide its sylla-
bus based on the specific re-
quirement of the university.

(1) None is strong

{2) Only I is strong

(3) Only Il is strong

(4) Only I and 1 are strong
(5} Only I and III are strong

18. Should all those students who
failed in one or two subjects in
HSC be allowed to take admis-
slon in degree courses and con-
tinue their study subject to their
successfully passing in the
supplementary examination ?
Arguments :

1. Yes, this will help the students
to complete their education with-
out a break of one year.

I1. Yes, this is a forward looking

strategy to help the students and

1I. No, such students do not choose
to continue their studies without

having passed in all the subjects
* InHSC. .
{1) Only | is strong
{2) Only 11 13 strong
{3) Only Il {s strong
{4) Only either Il or Il and 1 are
strong
(5) None of these
Directions (16-18) : Read the
following information carefully and an-
swer the questions which follow :
(RBI Grade-B Officer
Exam. 11.10.2008)

Ruling governmenits in the west

are being punished by the voters for

ever rising unemployment rates. Their

parliament is abuzz with compaigns
marked by criticlam of Indla as an
outsourcing hub. India is seen by many

in the west as a land of call centres

and back offices with cheap labour that

costs people in the west, their jobs.

16. Which. of the following
statements would weaken the
argument given in the passage?
(1} OQutsourced jobs do not re-

quire highly skilled and
qualified employees,

(2} Nearly 34% of the unem-
ployed people would secure
jobs In the west if out-
sourced jobs were in-
sourced by their organisa-
tions.

(3) After suffering heavy loss-
€s In the elections the gov-
ernments in the west are
expected to change their
decisionon outsourcing to
India,

{4) Outsourcing, a dynamic,
two-way relationship has
created jobs and growth in

India as well as the west.

{5) Although outsourcing to In-
dia allowed many compa-
nies in west to focus on

- their core operations, they

heavily compromised the
quality and the standards
of their back office jobs.

17. Which of the following can be
a possible repercussion of the
opposition to outsourcing in the
west?

(1) Jobs which are currently
outsourced to India would
be transferred to another
country which in all prob-

motivate them for higher studies.

B)Ang and III are strong ‘
.\_.__

ablllj.y would he China.

( BPRE-671 }
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slons about tmportang questions, it is

fween ‘strong’ arguments and ‘weak’
arguments so far as they relate (o the
question. ‘Strong' arguments are thoge

related to the questions, ‘Weak’ argu-
ments are those
portance and alsq may not be directi

related to the questions or may be re{r

{ ARGUMENTATION |}

(2) Call centres and back of-
fices employees in Indla
would expect a salary at par
with their western counter-
parts.

{3) In-sourcing of jobs by the
west would render thou-
sands of Indians unem-
ployed.

{4) Ifin-sourced in the west it-
self, the companies would
not be able to employ pro-
fessionals and experis of
same quality as availablein
India,

(5} The western companies
which earlfer outsourced to
India would benefit finan-
cially as offices would not
have {0 be set overseas.

18. Which of the following can be
Inferred? (An Inference |s
something which fs not directly
stated but can be inferred from
the given facts)
(1) Unemployment in India is

not as severe a problem as
that in the west

{2) Employees working in the
back offices and call cen-
tres in the west earmn much
more than their counter-
parts in India

(3) Developing countries such
as China and India do not
outsource their back office
Jobs at all to other countries

(4} Countries which do not out-
source jobs do not face the
problem of unemployment

(5) One of the main reasons for
high unemployrment rate in
India fs its clan of call cen-

tres and back offices which
undertiake outsottreed work
from the west

Dizections (19) : In making deci-
desirable (o be able (o distingujsh be-

which are both Important and directly
which are of minor jm-
0a trivial aspect of (he Question.

Exam, 03.08.2014¢)

The question below is followed by
two arguments numbered I and Il. You
have to decide which of the arguments
is a ‘strong argument and which is a
‘weak’ argument.

Givo answer (1) if only argument I
{9 strong

Give answer (2} if only argument
I s strong

Give answer (3) if either I or I is
strong,

Give answer (4) if neither I nor 1
strong.

Give answer [B) if both ] and Il are
strong.

18. Should all the power generation
and distribution units in the State
Y be handed over to the private
sector ?

Arguments :

I. Yes, the State Government are
not equipped to handle gen-
eration and distribution of
elecircity eMiciently and it is
not beneficial too,

. Yes. The private companies
handle generation and distri-
bution of electricity efficient-
ly.

20. Two similar buildings were con-
structed in City X and City Y by
‘Ashiyana’ builders ten years ago.
While the building in City X con-
tinues to be in good condition,
the one in City Y has already
started to experience certain
structural problems.

The residents of the building

constructed in City Y have de-

manded an explanation from the
builder regarding lack of unifor-
mity in construction,

Which of the following statements

would support the builder to some

extent ?

{1) Cost of construction of build-
ing in City X was higer than
that of C".y Y meg labour
costs in City X.

(2) Minor repair work ig always
required to be done in all

bufldings after mintmum ten
years of construction.

(3) Repairwork which, was
twice earlier i,

within minimy, Ay
budget. " Posan,h
(4} Unilike City X, hunucmy
iIs very detrimentg) t:lhul
struction materia) su e;:’"‘
iron, cement ete, iqu?hl;
in City Y owing to uap%
ity to the sea.
{5) Expense of same m“’“ﬁ
if done in both the
~ X as compared tg that in
City Y.
{NABARD Officer Grage o,
Online Exam. 01.03.201

INSURANCE m@

Directions (1-5) : In making g,
cisions about important questions
desirable to be able to distinguigh .
tween ‘strong’ arguments and ‘weak
arguments so far as they relate to hy
Guestion. ‘Strong’ arguments are thos
which are both fmportant and direcy
related to the question. "Weak’ ange
ments are those which are of ming
importance and also may not be directy
related to the question or may be
lated to trivial aspect of the questin

(LIC Assistant Administrative
Officer (AAO} Exam. 2008

Each question below is followedly
two arguments numbered } and 1L Yo
have to decide which of the argumenls

Is a ‘strong’ argument and which st
‘weak’ argument.

Give answer (1) if only argumed!

is strong

Give answer (2) If only argun®

Il is strong

Give answer (3) if either I or I

strong,

Give answer (4) if neither !

is strong,

Give answer (8) if both 1 and et

strong.
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hew&“ | the tenure of the Presi.

m bllu;;':\ :i 1 ﬁlﬂb’g jonger ?

le”qﬁu d psgaments

1 u"‘e%‘: ! No. The President of india is
p%alh f I non-executive head. There-

Id‘ly h jore, there 18 no need to ex-

1 lom tend his tenure.

. 1. Yes. 1t will provide an oppor-
v h % tunity to President to guide he
; e’)’}“gh Government to fulfil the long

M term objectives.

should there be concentration of
:u'%,l > foreign investment in only few
hﬂ%s | states?
nn% .
t Arget

hat, | . No.Itis against the policy of
e I overall development of coun-
Lo d ! try.

2oy iI. Yes. Because a large number

of States lack infrastructure

~— ARGUMENTATION }—

Arguments ’

L Yes. It will be beneficial for
those candidates who are un-
able to bear the expenses of
competitive examinations.

H. No. The past academic per-

cannot be made the
basts of recruitment because
there is 1o uniformity in the
assessment by the universi-
ties,

Directions {6~10) : These ques-
tions are followed by the arguments
numbered as I and II. You have to de-
cide and give answer in the following
way :

(United India Insurance AAD
Exam.03.06.2012)

(1) If only argument I is strong.

(2) If only argument Il is strong.

(3} both arguments I and Il are

©. Should sex-education be enoour=
aged in schools ?

Arguments

L. No.nwmdmurbuwoldatudr
pattern of the achool. )

1. Yes, it will give right Informahlch
ton at the right tme W <
will help a child to tackle

these kinds of problems in
future.
10. Should foreign press media en-
ter in India ? :
Argaments
I. No, theywill give better infor-
mation which can lead to ru-
ining of India press industry.

II. Yes, those which give exact

- and true news will get better
response and in this way the
foreign press media help us
for reaching to depth of truth-

" ness.

Directions (11-15) : These ques-
tions are followed by the arguments
numbered as I and 1I. Yot have to de-
cide and give answer in the following
way :

(United India Insurance AAO
Exam.03.08.2012)
{1) If only argument I is strong,.
(2) If only argument 11 is strong.
(3) if both arguments I and Il are
strong.
(4} I neither argument I nor ar-
gument 11 is strong.
11. Should Doctors form a union ?

Arguments

I. No, medical is a noble profes-
sion and forming a union is
against the ethics of that pro-
fession.

II. Yes, even a little demand is
not paid attention unless you
present it as a united group.

12. Should liberalization essential for

India?

Arguments

L. Yes, to feed huge populatian
of India we require latest tech-
nology and in short time this
demand can only be fulfilled
by liberalization. ‘

IL. No, liberalization can not fight
poverty and unemployment
and these problems will in-
crease by this way because
advance technology requires
less input and manpower.

@ i to attract foreign investment. strong.
! g, Should there be a complete ban {4) If neither argument 1 nor ar-
' de. on opening up of new manage- gument II is strong.
8ity ment educational instit-utions ? 6. Should DOCtDl'S form a union ?
e s . I. No. medical s a noble profe
¥ e |
tions ere
08¢ is no heedmtccl) open up new mmﬂmo{mﬂm
Xty institutions. I Yes, even a little demand is
B 1. No. We need more profe- not pald attention unless you
nor ssional mlanagers in coming presifit it as a united group.
iy days because the future sce- | 7. Shouldiftiérlization essential for
e narjo will be very competitive. India ?
m 4, Should private organisations be Arguments .
¢ allowed to carry on security re- 1. Yes, to feed huge population
| lmedrecarchactiities? Bology and i shorttie hi
. . nology and in s
: Argameats demand can only be folfilled
I. No. Private organisations are by liberalization. _
casily'vulnerable to our en- M. No, liberalization can not fight
emies and therefore, they poverty and unemployment
should not be permitted to and these problems will in-
carry on such researches. crease by this way because
II. Yes. The Government has not advance technology requires
sufficient resources to carry less input and manpower.
on such researches and the 8. Should film-censorship be abol-
private organisations would ished ?
manage rniecessary resources. Argameants
8 Should there be recruitment in I. No, present trend of abolish-
banks on the basis of past aca- ing established things should
demic performances rather than be opposed.
through competitive examina- II. Yes, Art cannot grow and de-
tions ? velop in a climate of control.
— (BPRE-673 }
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13. Should film-censorship be abol-
ished ?
Arguments
1. No, present trend of abolish-

Ing established things should

be opposed,

II. Yes, Art cannot grow and de-

velop in a climate of control.

14. Should sex-education be encour-

aged in schools ?
Arguments

I No, jtwill disturb the old study

pattern of the school.

II. Yes, it will give right informa-

tion at the right time which

will help a child to tackle

these kinds of problems in

[ |

{3) Company X plans to expand

fts market globally this yecar.

(4) Company X underwent a lot

of eriticism for the sald pro-

posal and also experienced

a drop of around 10 per cent

customers in just one week.

{5) Company Y, a rival to com-

pany X setup shop in coun-

try Z just two months back

and has introduced a num-

ber of interesting offers for
customers,

{NIACL Administrative Officer

(AO) Exam, 10.01.2018)

17. This question consists of an in-

formation and two statements

future. umbered I and II given bel
18. Should ] n ane, Ben eow
teroi:llngam;m press media en it. You have to decide which of
the given statements weaken {s)
ts
m will give better infor- or strengthen (s) the inforrnation
ma'tlon which can lead to ru. and decide the appropriate an-
ining of Indlia press industry. swer Information: According to
IL Yes, those which give exact aret ship'Aq Pt
and true news will get better with the fatal accident owing to
response and in this way the the fact that it was ageing and
foreign press media help us nearly two decades old.
for reaching to depth of truth- L. The accident took place when the
ness, scaman at the artillery section
16. Read the following tnformation accidently misfired the missile
carefully and answer the ques- hitting certain crucial engine
tion which follows, machinery, -
Company X, a Telecom compa- I1. Average age of all shi
ps, battle-
1ty of country Z, which proposed ships or cargo ships, ig
last week that it would ¢ 30-35 years, befo hich
Its customers for video calls, said can be pera' N these
that it will not go ahead with the operated safely.
plan. Video call is a facility gly- (1) Both Statement I and State.
en free of cast by the company ment lare neutral statements,
for its existing customers, (2) Both Statement 1 and State-
Which of the following may be a - ment II strengthen the infor-
reason for the change in plan by mation.
g;e ;:fd cgmpany? (3) Both Statement I and Stae.
© 8hares of company 1, ment Il weaken the inf;
) orma-
quchchargesits customers tion. o
or
& similar facility since the (4) Statement 1 strength
beginning, dropped substan. nf cns the
tially this weel. ormation while Statement i
{2 Many people using the ser. 5 the fnf tion,
vices of company X Jive ) Statement Iweakens theinfor-
rural areas ang might not be mation while Statement 11
able to afford ap extra strengthens thelnfomlation.
charge for certain services, | (LICAssistant Adminiatrative Officer

(AAO) Online Exam, 22.03.20185)
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' _ZPLANATIONS ==] | " { According to question botn
‘ E 17, mnts fand Il are strong.
% ALISED BANKS [| " srguments s mluc™tlon only
: PO/MT/SO EXAMS 8 @ According quesgtion neither
! ArBuments I nor arguments Il 1s
‘ e use 0L oalit, ™ 2 | 19, (1) Acgora ing
i t1 es 3 * to estion
Dnly argurnent I seems to be guments 1 is strong, onlyar-
2 ﬂtﬂbl‘ 20. (4) According to question neither
only argument Il is strong, arguments I por argument 11 is
3 @:onb,argumcntlscemstobe

| b

all growth and deévelopment,
Therefore:
ng.

7 maﬂertodecidewheﬂlerthe

t is strong or not first

decide the desirability of the
3 gtatement. Therefore, neither of
) the arguments is strong.
.*IT a4 The reason mentioned in the
ly ent | is not convincing,

Therefore, argument I is not

strong. Argument Il does not an-

gwer the question how public sec-

{or banks wiil safeguard the

| money of the customers. Thus,

ent Il is also not strong.

9. (4) Neither of the arguments is

strong. The use of term ‘only’ in

the argument JI makes it invalid.

10. {2) Only argument 1l seems to be

f strong. Hike in prices of petro-

leum products affects the price

structure of most of the essen-

tial commeodities. The use of term

“only” in the argument I makes it

invalid,

I1. {2} Only I and III are strong
12. (5) None of these

13, (2) Argument I is based on an ex-'

ample. We know that citing ex-

ample is a bad argumentation.

Only Argument I seems to be
stron ' ’

W.{)) None of three arguments
seems to be strong. Argument I
lacks substance. Argument II de-

Some unnecessary con-
tems. Argument 111 is based on

B, 21 example.
g Only Argument Il seems to
strong. There should be no
discrimination between the em-

59 Neither of the arguments ig

L 22. (1) Opu
i strong on (1) would weaken th:
| iourcounty ook (osupport | aXgument put orward by the
uca to
ed classes for their over- the sports :

argument I is not

21. (2} Option (2}
would stren,
the stance taken by bsl.lllde;":l en

23. g]eOptjon (5} would strengthen

argument,
24. (3) Option {3) would strengthen
the argument of government.
28. (3) The statement given in option
(3) would weaken the argument.
28. (4) Option {4) contradicts the

views expressed in the state-
ment,

27. (5) Option (5) would weaken the
findings of the study.

28. (1) Option (1) would weaken the
[ argument put forward by the com-
mittee to the sports ministry.

29. (5) Option (5) would strengthen

the argument.
30. (3) Option (3) would strengthen
the argument of government.
31. (2) Obviously, option (2) would
weaken the argument of parents.
32. (1) Obviously, option {1} would
strengthen the argument made in
the statement.
83. (3} Obviously, the most appropri-
ate answer would be Option (3).
34, (2) Obvilously statement {B) would
weaken the argument given in the
question statement.
88. (1) Obviously, Option (1) would
strengthen the stance of the Com-
pany M.
36. (3) Obviously, option (3) supports
the decision of Pollution Control
Board.
87. (5) Obviously, option (5} weakens
the given statement that the new
medication is responsible for more
fatalities.
38. (3) Obviously, option (3) does not
weaken the given statement.

39, (3} Obviously, option (3) weakens

40.(3) Clearly, both the statements !
and Il weaken the mfomuot:te
41.(1) Obviously, both the S12--"
ments 1 and 11 weaken the infor
mation.

SBI PO EXAMS

1. (4) Neither of the argument:h::l
strong. Itistrue that p
oy make Institutes gf;cchmlo'

finan healthy f

five co‘::::lgering the prevalent

trend of market. But it cannot be

taken as universally true, Hence,

argument | is not strong. The sec”

ond t lacks any 8

and hence it is not strong.

2. (1} Taking into account the fact that
a large number of cases aré pend-
ing in the courts for a long thme, it
is desirable that vacations of court
judges must be reduced to speed

up judicial process. Therefore, ar-

gument I seems to be strong. Ar-

gument Il is based on an example

and we know that citing an exam-

ple is a bad argumentation.

{4) 1t is not necessary that if any

practice which has been in vogue

for long time is right and it must

be continued. Therefore, argu- .

ment I is not strong. Argument Il -

is partly true and hence it cannot

., bestrong. .

4. (4) It is an established fact that
l-ﬂghcrqua]iﬁmﬁmoouldnotbeaﬂy
criteria for any kind of promotion in
an organisation. Other factors are
also equally important. It is very dif-
ficult to assess the higher qualifica-
tion and other factors on the same
scale. Therefore, neither of the ar-
guments is strong.

8. (@) Neither of the arguments is
strong, None of the arguments holds
strong vis-a-vis the statement.

6. (4) None of the arguments is

strong. The census activities take
a few days and the loss incurred
in the classes can be compensat-
ed by organising extra classes or
pruning the holidays. Therefore,
argument I is not strong. Other per-
sons may also accomplish the task
of census very well. Therefore, ar-
gument 11 is also not strong,

7. (1} Only argument I holds strong.
In the present context the solu-
tion of any major problem Hes in
the proper dialogue between the
concerned parties. Argument Il is
based on individual's opinion and

3

the statement of HR Manager of

Ployees of similar categories.

Company X.

hence it cannot be strong.
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8. {4 Noneof the arguments is strong,
The employees may raise thier de-
mands by odma‘man; ai[:oéﬁong

nly ar ent .

* 3]na?xl.ll{oﬂs§d??onsuucuons cre-
ate mary other problems. The peo-
ple may be shifted to some regu-

larised colonies,

10. (4} The use of the word “only” in
the argument | makes i fnvalid.

The policy of open market advocates
privatisation. Each country (s open-

ing its market for foreign investors.
How. privatisation will pose a threat

to national security?

11. (4) Neither of the arguments (s
strong enough. The President of

India Is constitutional head of the

State, yet he 19 an Integral part of

the Parliament which decides

policy matters, Therefore, argument

18 not strong. The argurnent Il does

not mention any specific reason.

12. (1) Only argument 1 s strong, We
cannot leave the backward region
to remain backward,
13. (2} Managerial sldll ts required in
every sphere of developmental
activities and therefore, a compiete

Argument Il seems to be strong.
In order to Increase revenue the
Government should bring more
persons under the net of taxa-
tion. Argument I1I 1s also strong.
22. {5) Only arguments [ and Il are
strong. The Government is keen
to introduce the VAT {Value
Added Tax) which 1s the system
envisaging simplifled tax stm}tl:-
ture. A single tax will check the
double taxation and manufac-
tures as well as traders will be
encouraged to pay taxes.
Argument 11 i3 an example. We
know that citing an example is

bad mentation.
23. (5) Oariﬁruargument 11 1s strong.
24, (1) None of the a;gurr{ents is

strong. The use of tern "only’ in

the argument I makes It invalid.

28. (1) None of the arguments is
strong.

28, {2) Only argument II {s strong.

27. (4) Neither of the argument Is
atrong.

28. (1) Onily argument I Is strong.
Now-a-days television is an essen-
tial means to provide useful aca-
demic information. Therefore, it

ban on opening up of new manage-
ment educational institutions fanot
Justifled In any way. Hence, only
argument [1 is strong.
14. (4) At aglance both the arguments
secm 1o be strong. But considering
the very nature of the private

organisation, i.e. profit making

only, we cannot hand over such

great responsibility in the hands

of private companies. Again, the

argument ! does not mention how

the private organtsations are casily
vulnerable to our enemies,

1B. {4) Neither of the arguments s

strong enough. None of the argu-

ments passes the desir ability cri-

teria,
18. (1) The problems of beggars
cannot be solved by sending them

is not desirable to prevent chil-
dren from watching selected pro-
grammes on television. For the
same reason, argument (I {s irvalid,
20. (1) Only argument I is strong, It
is true that employees put thelr
genuine demands before the man-
agement through the trade
unions. Therefore, it Is not judi-
cious toban the trade unions com-
pletely. It is true that employees
compel the management in some
instances to concede their some
lllegal demands through the
unions but the solution suggest-
ed Is not appropriate.
30. (1) Only argument | is strong,
Women are equally capable and
they should be given equal oppor-
tunity in matter of cmployment.
Argument Il makes no point.

3. {1) Argument (C) 1

L
dia should rely o 4, TOng
Ings and ¢°n01uslor::,°1wl“ l],':;

that the level of ts
should be maimah:veﬁtgr rt;?,:

use. But it Is equai [l
food production pr?p? E“thalhm

foy
fs required. There a
guments (A) and (Bﬂogé :nlylh
32. (3) Only Argument (B) 13%5-
The use of term ‘only In atr""lg,
gument (A) makes In jy,, theay
gument (C) fs bageq Onaud-&:.
ample. We know that ¢y 2N ¢,
ample is bad argummtaulg'lg &
33. (4) Only Argument (A) 15 gy "
order to pravide accompy. "UE b
vast population lﬁgh?sewa"“‘b.mm, b
should be cons wh
there are favourable condmfn:"“
a4, {3} g:g :rl'ggumem (C}is Slron'g
38. (3 uments
strong. Wang 9 %
38. (4) Obviously, option
weaken the facfa glvg,:} l‘:.;%
statement. If sales will couh
down, how Profit will ingp ™

87. (3) From the statement it i

that Polka turtles are beip
caught for rearing as pets. B!
these turtles may die for lackl:}
adequate habitat. S, the
problem is the use of Poli, tur.
tles as pets. Hence, option )
seems to be most pl:elusil]:oleav,q,L

38. {1} In any advertisement the Point
which is highlighted is liked ty
the people. The statement gy
cusses the safety aspect of fp
car. So, it may be said that cuy
tomers are very much awar
about their safety. .

39. (1} The statement affirms that 2
per cent villages have 24 houn
electricity. It does not imply thy
other villages have no accessis
electricity at all. Conclusionl
may be true.

40. (4) Option {4) is true.
41. (3) Option (3) 1s true.

to villages, Therefore, argument |

aeems to be strong,

20. (1) Argunmtlscenmtobcsu'o
21. (2) Argument | makes no sen:f.
ifthe s ofl'ar:rblcexzarenotad-
canno o -
da-ﬂwnetd‘tamumaspué‘rhnuestm

~BIGRADE-B/NABARD GRADE-A OFFICER EXAM)|

1. {4) According to statement, neither
arguments I and I are strong.

2. (1} According to statement, o%

argument I is strong,

3@ According to statement

nelther argument |
strong, g and Il are

4.(2) According to Statement, only
argument Il 1s strong,
B. (4) According to statement

Soverning the Income Tax Act
Therefore, ﬂrgummtllsnotaw:g:

nelther arguments |
strong, 8 andIlare

_-_.[f BPRF;-R"ID.EJLH— n =

6. (2) In a country where welfaret
accorded high prierity, strid
rules cannot be applied.
there is no need to make gradw¥
tion the minimurn educational g
fication for entry level jobsi®?
public sector organisation. Hm;

Argument | {s not strong,
I11s logically convincing.

7. (1) Only argument I seems tol¥
strong. Any electronic devieocewr
computer can be used eff

ly If the concepts are cled®
—

L
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ne. %b:’&h; 7 neher of e Sl ents s | T INSURANCE EXANS
wa} ejl 1&“'141 s i ) A,-f;“me;lt] il lacks sub-
eq oF ual facts while Argument [ | — L. @7 Nem; argu
o rjéﬂﬁ ﬁnotmﬁk‘-‘ any strong point. strong enough. The eatent of
Pepse uh: i) Only Argument Il ts strong, Indla is constitutional head of the
re, 0‘“:11&«:: §* precaution is better to avotd State. yet he is an in part
Are st b 4 J L 'ﬁ: oward incidents. Therefore, of the Parllament which decides
?’ Iy ;&"g_ T us ment IT seems to be strong, g::fty ln;:‘i:g:& Therefore, argu-
inl,? u]eﬁn& I (3) Saving electricity is required mundouno?mxdo?aiwspe:
oralig &, | ll*m cope with the inadequate gen. cific reason,
) Q’; an . ¢ tion of electricty. Therefore, 2. (1) Only argument I s strong. We
tag. ;( he argument 11s strong, cannot leave the backward region
e e e oo | 8.3 Mansgenatepans
: as every © fel for anag skill is required in
Z‘if'auo,,'" ; suongumt of elect 'Icitypli:gjshe every sphere of develiz%mental
.’ Wi b, gg’ ) afﬁt‘éig;; and therefore, a com-
di umes pie on opening up of new
< stl:,::’& Argumcn:t Itl I ;:::;mt tseem Management educational institu-
n lro,,& gtrong a9 it 18 us to as- tlons i3 not justified in any way.
d {qa‘.t sume that the Government does Hence, only argument I is strong,
1) not have the machinery to put 4. (4) At a glance both the argu-
%“Jd gucha restriction on use of elec- ments seem tobe strong, But con-
0 sidering the very nature of the

thy tricity-

Private organisation, l.e. profit
:,nvaklng ]c‘mly. we cannot hand

er such great responsibility in
the hands of privatgocompant)l'es.
Again, the argument [ does not
mention how the private
organisations are easily vulner-
able to our enemies.

8. (4] Neither of the arguments is

~ strong enough. None of the ar-

guments passes the desirability
criteria,

6. 2) Only argument Il holds
strong. A union provides a com-
mon platform for the members
to voice thelr genuine demands.
There 1s no doubt that medical is
a noble profession, but how form-
ing a union is against the ethics
of the prefession.

7. (4) Neither argument I nor argu-
ment Il is strong. The use of tern
‘only’ in the first argument makes
it invalid. The second argument
{s based on an assumption.

8. (4) Argument I seems tobe vague.,
It does not make any substantial
point. Therefore, argument I does
not hold strong, Argument Il does
not present a logical reason.

9. (2) Change Is the rule of nature.
Therefore, argument I does not
provide convincing reason. Sex
education in schools can help stu-
dents remove their misconceptions
and doubts at a stage, when they
would otherwise hesitate to dis-
cuss the same with others, Also,
sex forms an integral part of the
future life of students, Therefore,
argutent Il holds strong,

" ment [ is strong. In
tﬁaé’ CoB ﬂgng EI:;1:r‘gﬂ::1‘d fast spreadingg of
. bef&r the contagious viral infection only
g, B":S this measure i3 not adequate,
.:a,:kqi 43, (5) Only argument IIl s strong. It
{s advisable to ban the exports of
a tyr food grains to face the unprece-
ton (3 dented draught situation in the
¢ country. The use of term ‘no other
o vy in argument I makes it tnvalid.
t d:gf 14, {5) The use of term ‘only’ in the
of the ment { makes it invalid. Ar-
 cug. guments I and III seem to be
wars strong.
18 {1) Only argument [ seems to be
Al 3 strong. The measure will save one
o year of student.
s ﬁ,‘ 16, {5) Although outsourcing to India
nll allowed many companies fn west
tofocus on their core operations,
they heavily compromised the
quality and the standards of their
back office jobs.
G 17, {3) In-sourcing of jobs by the west
would render thousands of Indi-
s ans unemployed.
. 18.(3) Developing countries such as
’ China and India do not outsource
- their back offlce jobs at all to oth-
: ercountries
/ 19, (4} Neither argument I nor argu-
' Ment Il i strong,
g‘:tne of the arguments cites any
iy Obviously, the option (4) sup-
the buflder,

\—

. ent 11 seems tobe

10 [s?.)rc‘))n':y J{nguunr;ntl assumes that-
Indlan press does not privide bet-
ter Information. This fact may not
be considered as right. The ;ﬂ“'l
try of foreign press media ¢
make competitive environmen!
and the quality of news coverage
will be improved.

11, (2) Only argument 11 holds
strong. A union provides a comm-
mon platform for the members
to voice thelr genuine demands.
There is no doubt that medical is
a noble profession, but how form-
ing a union Is against the ethics
of the profession.

12. (4) Neither argument [ nor argu-
ment I1 is strong, The use of tern
‘only in the first argument
it invalid, The second argument
isbased onan assumtopg:n- .

13. (4} Argument I seems vague.

It does not make any substantial

point, Therefore, argument I does

not hold strong. Argument Il does
not present a logical reason.

(2) Change is the rule of nature.

Therefore, argument 1 does not

provide convincing reason. Sex

education in schools can help stu-
dents remove thelr misconcep-
tions and doubts at a stage, when
they would otherwise hesitate to
discuss the same with others.

Also, sex forms an integral part

of the future life of students.

Therefore, argument II holds

strong‘

15. (2) Only argument Il seems to be
strong. Argument [ assumes that
Indian press does not privide bet-
ter information. This fact may not
be considered as right. The en-
try of foreign press media wiil
make competitive environment
and the quality of news coverage
will be improved.

16. {4) An example cannot be taken
as a support to an argument.
Therefore, Option (1) may be
ruled out. Option (4) seems to
be most appropriate reason.

17. (3) Clearly, both the statements

weaken the given information.
Statement I states that the accl-
dent took place when the seaman
accidently misfired the missile
which hit certain crucial engine
machinery,
According to statement 11, average
age of all ships Is 30-35 years and
naval ship‘AquaEmp’ was only two
decades old. Therefore, the cause
of accident was not its age.

A

14.
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MODEL EXERCISES

{1) ifonly argume%

. uestions
Directions (1-4) : Each quesi oty

consists of five statements A,

followed by four options con-
and E together

sisting of (hree statements put
fn a apecific
which Indicates a valid

drawn from the p!
ments. "
1. (4) Oranges are not sweet.

(B) Some aranges arc sweet.
. {C) All sweets are tasty.
(D) Some oranges are not tasty.
(E) No orange Is tasty. ,
(1) CEA (2) BDC
{3) CBD {4) EAC
{5) None of these
2. {A) MBAs are in great demand.

{B) Sunil and Shobha are in great

demand.
(C) Suni! fs in great demand.
(D) Shobha Is in great demand
(E} Sunil and Shobha are MBAs.
(1) ABE {2) ECD
(3) AEB (4} EBA
(5) None of these
3. (A) Some towns in the world are
polluted.
(B} All polluted towns should be
destroyed.
{C} Town Lambusa should be de-
stroyed.
(D) Town Lambusa is polluted.
(E) Some towns in the world
should be destroyed.
(1) BDE (2) BAE
(3) ADE {4 CDB
{5 None of these
4. (A) All heroines are pretty.,
(B} Some heroines are popular. ,
(C} Sanjana is pretty.
(D) Sanjana is a popular heroine.
{E) Some popular girls are pretty.
(1) ACD {2) ABE
(3) DCA (4} EDC
(5) None of these
Directions (5-8) : Each of the
questions given below is followed
two arguments numbered I and il You
have to decide which of the
1s a ‘stron arguments
€ argument and which is
weak’ argument, Give your answer as

(1) If only argument | 13 sgro,

{2} if only argument Il {s s
(3) If either I or I 19 smmgf’ il

(4) If neither I nor Jf
{5) None of thes: " 1 1s strong

8. Statement : Shoyld
lan food non-vegetar-
our count:yge totally banneq i

order. Choose the option
t, te,

where the third statement indicated in

option is a conclusion
the answer op two state-

these has
arguments numbered | and II. Decide

" alot of money. We should not

waste money on it. sountrl
II. Yes, when advanced n

computers in
are introducin owcaan\‘- af-

7. B lished in India ?

Arguments :

I. Yes, it will motivate people to
ealm more.

II. No, individuals must learn to
share their wealth with other
people.

8. Statement : Should judiciary be
independent of the executive ?

L. Yes, this would help to curb
the unlawful activities of the
exectitive.

I1. No, the executive would not be
able to take bold measures.

9. Some people have questioned the
judges’ objectivity in cases of sex
discrimination against women.

But the record shows that in sixty

per cent of such cases, the judges

have decided in favour of the
women, This record demonstrates
that the judges have not discrimi-
nated against women in cases of
sex discrimination against women.
The argument above is flawed in
that it ignores the possibility that
(1) many judges find it difficult to

be objective in cases of sex

on against women
(2) @ large number of the judges
causes arose out of allegations of

sexdiscrimination against women

(3) the judges are biased towards
women defendants or plain-
tifs in cases that do not in-
volve sex discrimination

(4} the majority of the causes of
sex discrimination against
women that have reached the
Judges’ courts have been a
pealed from a lower court i

(5) None of these

Directiong (10-13) : Each of

a qQuestion followed by two

which s “weal’. Mark ansnag s 23

10.

11.

(2) if only argument ] 4 “'Q"lu
(3 if either ”"“"g
o TEument | o, iy

(4) i neither argumeny | Nory,
L

strong
(5) None of these
Should all the prof;
leges in Indiabeenmw
out affiliation to any ynp,, “th
Arguments : STty
1. Yes,thisis the only
ate more opportuny .

those who seek pmfes:?o;:

II. No, this will dilute
of professional tr thequamy
such colleges may n:: 4
equipped to condyet Bugy
courses.

Should all those who

in contact with the panh.::ﬂi.‘f.f}‘;,‘lt

fectious respiratory diseage ),

quarantined in their hoygegp

Arguments :

1. No, nobody should
antined unloss they ar 12"
and found to be infecieq by
the virus the diseas,

Il Yes, this is the enly wayto o,
trol the spread of the dreageq
disease

12. Should India support all the i

ternational policies

States of Amel:ica? o Uniie

Argumenta :

L. No, many other powerful cou
tries do not support the same,

II. Yes, thisis the only waytogan
access to US development
funds.

13. Should there be a complete ban

on advertising of tobacco

ucts in all miggla? prot

Arguments ;

L Yes, this is the only wayto
save people from suffering
from cancer.

II. No, this will adversely affet
the sale of tobacco products

Directions (14-17) : Each o

these has a question followed by tw
arguments | and I1. Declde which d

the

arguments is a ‘strong’

and which s a "Weak' argument. Mo
answer as

—.—anﬁn P e

(1) if only nt | Is strong

(2) if only argument Il {s stroné

(3) if nefther argument I nor ne
strong

@ ffboth arguments 1 and 113"
strong :

(5) None of these
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Jur d
| Feameunet Y o
[ i "would help to curb students get equal opportu-
h‘zm ; I &?uﬁﬁgg] activlt?ca of the ?gﬂt;l‘ﬁnmh their higher eﬁ-
‘i %?‘3 : No,l uwui:;ecuUVBdednotbe “ m:::;lcharged by a few
: § il Ie to take bold measures, es of Country X is
! abld open book systems be much less than the fees
1, lﬁ‘ghﬂ%ucedlflexamlnaums? 5 gm by many universides
1 -
Jng N £%es, because it will avoid mass Cﬁ:@%:gﬂ"&’;ﬁ%g
%yl 4y g exams which are dif-
e | N e e Gt e
) exams condu _
1“:% I 1 sha;llg ;-euglon be taught in our sities aroundc;.hc %ll'llc‘lﬂ‘hr *
M"”Elr ':' [ Yes, do the parents not wish SHORT ANSWERS ==
i {o develop their wards into 1
élg;:% ] mature individuals. ) 5 ]2 |sa]| 2@
, how can one q A
1ot l:f f i gfch aostepwhen m\l;ea?l?ﬂg 9. @wlem|7@] sw
By, young generation to fulfill its mjwo.m [11.@] 12.4)
, ; role. 13.(49) J14.0) |15.3® | 168.(3)
m, 17, hould family planning be made | [T17, )
Ell e @[
be :
? I Yes, looking at the miserable | ===0 EXPLA .
conditions int India, there is no NATIONS ==
agy. other go.
Stag il. No, in India there are people L &L‘:""mﬂﬂﬂﬁgure we conclude
d by of various religions and family CRA S are sweet. Hence,
ase planning is against the tenets a logical sequence.
0n- of some of religions. T 0
ded 18, Study the following information
carefully to answer the given
In. estion :
ed Students of Country X go abroad
for higher studies despite hav-
ing some excellent universities in 2. (3) Clearly, AEB gives a logical se-
- their own country. In fact, there quence. '
A is no benefit but just the hype of 8. (2) BAE is a logical sequence be-
d studying abroad that encourag- cause from statements B and A
t es students to do so’ — State- we get “Some towns in the world
ment by the General Secretary should be destroyed.”
of students’ association of a col- 4, (2) All heroines are pretty and
lege in Country X. some heroines are popular imply
Which of the following strength- that some popular heroines are
ens the statement of the General pretty.
Secretary that students do not B. (4} Since, non-vegetarian food is
benefit from studying abroad? expensive and beyond the means
(1) Getting some admission in ~ of most people in the country, it
some good universities of is no%mtelﬂ;at it should be
Country X is next to impos- bann .
sible as more than 55% of | 6. (2) Advanced countries are intro-
seats are reserved seats and ducing computers in various ar-
most students compete for eas. It means computeri- sation
the seats which are not re- is productive. Hence, argument
served. o) bt thet the income of peop}
@) Statistics suggest that more | 7+ (2) Factthat Lae come of people
than 55% students of Coun- is increasing in India implies that
try X, studying abroad either people are encouraged to earn
accept mediocre jobs or re- more Inspite of personal tax. So,
turn to Country X after com- Iisw lseak ar rthgwnlfllilt ?&"t;} Is strong
le as it s worthwhile ideal.
ll:u:k o jouﬁii;pchmﬁige to 8.(1) Judtiici%ry ac:_ g}rll a check u:n
) Country x ' the activities of the executive.
provides a num- di is
ber of scholarships for stu- This requires that the judiclary
fag, S

the exccutive.
independen ment ] 1s strong
but argument 11 13 ul:o"_th itmns-
8. (1) The argument
ignores the possibility t.hatbr;lao!g
judges find it difficult to i
ective in cases of sex de
against women.
(1) Argument 1 18 strong b:;
cause this is not the only Way
create more opportunities for those
who seek professional t.ram.mr%m ]
t 1 is sirong bemus:ﬂma i
ning owr courses witheut
tion to any university,

the quality of professional

(2) Argument I is strong because

b should be quarantjncd
gglg:ly they are tested and found

wbenﬁectedbythevuuswu&

isease.

mg,:rh;:ment 1l is not strong be-

cause quaranting in home is not

the only way to control the spread

of the dreaded disease.

(4) Neither argument 1 nor argu-

ment Il is strong because In

should not support all the inter-
national policies of United States

of America only on the basis that

other powerful countries are sup-

porting or not. This isnot the only
way to gain access to US devel-
opment funds. There are many

other ways. .

13. {4) Neither argument I nor argu-

ment I is strong because all the

patients suffering from cancer are
not due to tobacco products.

Sale is not a factor in case of
ban on advertising of tobacco
products.

(1) Only argument I is strong be-

cause when judiciary will be in-

dependent of executive, then it
can curb the unlawful activities
of the executive.

15. (3) Neither argument I nor 1l is
strong because open book system
is itself a mass copying and all
the students cannot get 100%
marks.

16. (3) Neither argument I nor 1l is
strong because every parents
wish to develop their wards into
nature individuals and teaching
religion is not a wrong step for
young generation to fulfill its role.

17. (2} Argument I is not strong be-
cause making family planning
compulsory in the only way of
parent miserable conditions.

Argument I1 is strong because
family planning is against the
tenents of sormne religions.

18. (2) Option {2) strengthens the
fat?;ement of the General Secre-

10.

11.

12.

14.

o

( BPRE-679 |




